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- HHAEATESEH TREBUA RS D 7 (8%)

IEE 38T 3B~SHE SE~I0 108~ 20 &~ 508~ 1008 F~EH &
(RELFE) BIF JTN%) EIT 2087 50&; 1008t JTBAkE  N®%) N(%)
N(%) N(%) N(%) N(%) N(%) N(%)
B ERHSE P BT 0(0.0) 8(50.0) 1(6.3) 3(18.8) 0(0.0) 0(0.0) 0(0.0)  4(25.0)  16(100.0)
ERPREE ER S AT 0(0.0) 0(0.0) 4(66.7) 0(0.0) 2(33.3) 0(0.0) 0(0.0)  0(0.0)  6(100.0)
HEENE A E T 0(0.0) 3(42.9) 0(0.0) 0(0.0) 1(14.3) 0(0.0) 0(0.0)  3(42.9)  7(100.0)
EENEE R 2 AR D 0(0.0) 1(14.3) 5(71.4) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(14.3)  7(100.0)
FEER 2 E B 0(0.0) 0(0.0) 3(75.0) 0(0.0) 1(25.0) 0(0.0) 0(0.0)  0(0.0)  4(100.0)
[P A2 22 Al L BT 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  2(100.0)  2(100.0)
IR A B2 2 A E R T 0(0.0) 4(50.0) 1(12.5) 1(12.5) 0(0.0) 0(0.0) 0(0.0)  2(25.0)  8(100.0)
SEES 2R HT 0(0.0) 2(25.0) 1(12.5) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  5(62.5)  8(100.0)
R 2 - AE R DT 0(0.0) 0(0.0) 2(40.0) 1(20.0) 0(0.0) 1(20.0) 1(20.0)  0(0.0) 5(100.0)
BEED 2\ IR PR EEERTE [ IT 0(0.0) 1(14.3) 5(71.4) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(14.3)  7(100.0)
RIREEY IS FriE T 0(0.0) 3(21.4) 1(7.1) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  10(71.4)  14(100.0)
T LB 2 E T 0(0.0) 2(40.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  3(60.0)  5(100.0)
SR ARSI LR 22 0(0.0) 4(44.4) 3(33.3) 2(22.2) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 9(100.0)
FETHES 2 hE B 0(0.0) 426.7)  11(73.3) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  0(0.0)  15(100.0)
VI B SR TE 0(0.0) 2(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  2(50.0)  4(100.0)
TAE VB REEE 2 DT 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(100.0)  1(100.0)
HRAE G IR A TH T I DT 0(0.0) 1(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
B R A VIR TR A DT 0(0.0) 6(75.0) 0(0.0) 1(12.5) 0(0.0) 0(0.0) 0(0.0)  1(12.5) 8(100.0)
2 L Cp R = N i 0(0.0) 2(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
BE I A A E R DT 0(0.0) 7(53.8) 6(46.2) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  13(100.0)
(E5 - E\Rwii 0(0.0) 8(88.9) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(11.1)  9(100.0)
HEEAETERED 0(0.0) 6(33.3) 4(22.2) 2(11.1) 5(27.8) 0(0.0) 1(5.6) 0(0.0)  18(100.0)
YN RN Tl 0(0.0) 6(66.7) 1(11.1) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  2(222)  9(100.0)
YN N e e Y T b 0(0.0) 2(40.0) 1(20.0) 0(0.0) 1(20.0) 0(0.0) 0(0.0)  1(20.0) 5(100.0)
BB TE LB A D 0(0.0) 4(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  4(50.0)  8(100.0)
G EN - mails 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  4(100.0)  4(100.0)
VIR 2 E LT 0(0.0) 2(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
Batt ZtE LT 0(0.0) 2(66.7) 1(33.3) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 3(100.0)
ERER ZHE L BT 0(0.0) 8(72.7) 2(18.2) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(9.1)  11(100.0)
PRI FE TR DT 0(0.0) 2(50.0) 1(25.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0)  1(25.0)  4(100.0)
4&fn 0(0.0) 90(41.9)  53(24.7) 10(4.7) 10(4.7) 1(0.5) 2(0.9)  49(22.8) 215(100.0)
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= FHGEERENE KGR ARE > REFDITIE?

IS 1R 1388 3~6fA ¥FE~14F 1FEDE BXEFEAFERE FHEA &
(HELTE) WN%) HWN% HAHN% KN N% N(%) & T1E N(%) N(%) N(%)
BLEA ST FTRE LI 7(43.8) 1(6.3) 0(0.0) 1(6.3) 0(0.0) 3(18.8) 425.0)  16(100.0)
W PR ELRFT 22 T 4(66.7) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(33.3) 0(0.0) 6(100.0)
HEENE S A E DT 2(28.6) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(28.6) 3(42.9)  7(100.0)
HEHEE R 2 AR 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 6(85.7) 1(14.3)  7(100.0)
PR T 2(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(50.0) 0(0.0)  4(100.0)
IR 4R 22 A BE 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)  2(100.0)
TR 2R B2 2B R R R DT 0(0.0) 0(0.0) 1(12.5) 0(0.0) 0(0.0) 5(62.5) 2(25.0)  8(100.0)
E2EL 2 BT 1(125)  1(125) 0(0.0) 0(0.0) 0(0.0) 1(12.5) 5(62.5)  8(100.0)
R 2 hE L E R DT 1(20.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(80.0) 0(0.0) 5(100.0)
BEES 2 WRPREES2TE DT 4(57.1) 0(0.0) 0(0.0) 1(14.3) 1(14.3) 0(0.0) 1(14.3)  7(100.0)
RIREEYI ST FriE =Dt 2(14.3) 1(7.1) 0(0.0) 0(0.0) 0(0.0) 1(7.1) 10(71.4)  14(100.0)
T2 2 E 1D 2(40.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 3(60.0)  5(100.0)
Sl R IR B2 B2 AR 1(11.1) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 8(88.9) 0(0.0) 9(100.0)
TS 2R 3(20.0) 0(0.0) 0(0.0) 1(6.7) 0(0.0) 11(73.3) 0(0.0)  15(100.0)
VI B RREE 2 E T 0(0.0) 2(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(50.0)  4(100.0)
kAR B ER 2 H T 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)  1(100.0)
HRE AR A E AR IR DT 1(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
B E YRR A ETHE 4(50.0) 1(12.5) 1(12.5) 0(0.0) 0(0.0) 1(12.5) 1(12.5)  8(100.0)
B GEIIRRIR LTI 0(0.0) 0(0.0) 0(0.0) 1(50.0) 0(0.0) 1(50.0) 0(0.0) 2(100.0)
B A AT IR T 1(7.7) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 12(92.3) 0(0.0)  13(100.0)
B EEAETIT 5(55.6) 1(11.1) 1(11.1) 1(11.1) 0(0.0) 0(0.0) 1(11.1)  9(100.0)
B EE AETIEED 5(27.8) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 13(72.2) 0(0.0)  18(100.0)
N RATEERE LI 5(55.6) 1(11.1) 1(11.1) 0(0.0) 0(0.0) 0(0.0) 2(22.2)  9(100.0)
N RBEL AR 3(60.0) 0(0.0) 1(20.0) 0(0.0) 0(0.0) 0(0.0) 1(20.0)  5(100.0)
BEERE (LR A E T 4(50.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(50.0)  8(100.0)
EX//EN T i 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(100.0)  4(100.0)
EVIRH A E T 0(0.0) 2(100.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
Batt ZtELBE 1(33.3) 1(33.3) 0(0.0) 0(0.0) 0(0.0) 1(33.3) 0(0.0) 3(100.0)
NEER 2T 2(18.2) 4(36.4) 2(18.2) 2(18.2) 0(0.0) 0(0.0) 1(9.1)  11(100.0)
MERIBAFE TR BT 1(25.0) 1(25.0) 0(0.0) 0(0.0) 0(0.0) 1(25.0) 1(25.0)  4(100.0)
&80 61(28.4)  16(7.4) 7(3.3) 7(3.3) 1(0.5) 74(34.4) 49(22.8)  215(100.0)
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B2t oE e DT 2(12.5) 9(56.3) 1(6.3) 0(0.0) 4(25.0) 16(100.0)
BRSBTS AT 1(16.7) 5(83.3) 0(0.0) 0(0.0) 0(0.0) 6(100.0)
HEENE A E T 2(28.6) 2(28.6) 0(0.0) 0(0.0) 3(42.9) 7(100.0)
EENEEE 2 A E R D 2(28.6) 4(57.1) 0(0.0) 0(0.0) 1(14.3) 7(100.0)
TEEAIEE 2(50.0) 2(50.0) 0(0.0) 0(0.0) 0(0.0) 4(100.0)
[P A2 22 Al L BT 0(0.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0) 2(100.0)
IR A B2 2 A E R BT 4(50.0) 2(25.0) 0(0.0) 0(0.0) 2(25.0) 8(100.0)
S 2 GE DT 0(0.0) 3(37.5) 0(0.0) 0(0.0) 5(62.5) 8(100.0)
R 2 - AE R DT 1(20.0) 4(80.0) 0(0.0) 0(0.0) 0(0.0) 5(100.0)
BEES Z R PREEE2TE T 3(42.9) 3(42.9) 0(0.0) 0(0.0) 1(14.3) 7(100.0)
RINEEYIT 52 e DT 0(0.0) 3(21.4) 1(7.1) 0(0.0) 10(71.4) 14(100.0)
T LB 2 E T 0(0.0) 2(40.0) 0(0.0) 0(0.0) 3(60.0) 5(100.0)
SR R LR 22 5(55.6) 4(44.4) 0(0.0) 0(0.0) 0(0.0) 9(100.0)
T 2R T 7(46.7) 7(46.7) 1(6.7) 0(0.0) 0(0.0) 15(100.0)
VI AR SR LT 1(25.0) 1(25.0) 0(0.0) 0(0.0) 2(50.0) 4(100.0)
ke G EE 2 E T 0(0.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0) 1(100.0)
TRE R A tH LA DL 0(0.0) 1(100.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
B e ba R VIR SR 2 E 1D 1(12.5) 6(75.0) 0(0.0) 0(0.0) 1(12.5) 8(100.0)
B BN A E I 1(50.0) 1(50.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
B G BRI A E R DT 3(23.1) 10(76.9) 0(0.0) 0(0.0) 0(0.0) 13(100.0)
B REA N AT 0(0.0) 7(77.8) 1(11.1) 0(0.0) 1(11.1) 9(100.0)
B RE N A TR E DT 1(5.6) 17(94.4) 0(0.0) 0(0.0) 0(0.0) 18(100.0)
PASIS et - /AN Tt i Rl 2(22.2) 5(55.6) 0(0.0) 0(0.0) 2(22.2) 9(100.0)
NI A A AR TE 0(0.0) 4(80.0) 0(0.0) 0(0.0) 1(20.0) 5(100.0)
B R TE LB A D 1(12.5) 3(37.5) 0(0.0) 0(0.0) 4(50.0) 8(100.0)
VIR 2RISR Y A E T 0(0.0) 0(0.0) 0(0.0) 0(0.0) 4(100.0) 4(100.0)
VIR 2 E LT 1(50.0) 1(50.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
e SN T (FE AT 2(66.7) 1(33.3) 0(0.0) 0(0.0) 0(0.0) 3(100.0)
ERER ZRE LT 5(45.5) 5(45.5) 0(0.0) 0(0.0) 1(9.1) 11(100.0)
PRI FE TR DT 2(50.0) 1(25.0) 0(0.0) 0(0.0) 1(25.0) 4(100.0)
& 49(22.8) 113(52.6) 4(1.9) 0(0.0) 49(22.8) 215(100.0)
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B ERTIE e DT 7(43.8) 9(56.3) 0(0.0) 0(0.0) 16(100.0)
R 2T oE Pl 0(0.0) 6(100.0) 0(0.0) 0(0.0) 6(100.0)
BN R A E DT 1(14.3) 6(85.7) 0(0.0) 0(0.0) 7(100.0)
EEhEEE 2 AR R 4(57.1) 2(28.6) 1(14.3) 0(0.0) 7(100.0)
TFEEEE ZE DT 2(50.0) 2(50.0) 0(0.0) 0(0.0) 4(100.0)
IR A B2 A bE L BT 0(0.0) 2(100.0) 0(0.0) 0(0.0) 2(100.0)
LIt A 22 A AR SR DT 5(62.5) 3(37.5) 0(0.0) 0(0.0) 8(100.0)
SEES 2 E BT 2(25.0) 5(62.5) 1(12.5) 0(0.0) 8(100.0)
BEES 2 IH TR IR T 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
SEED Z R R R RE L DT 2(28.6) 5(71.4) 0(0.0) 0(0.0) 7(100.0)
RIREEY I P T 4(28.6) 10(71.4) 0(0.0) 0(0.0) 14(100.0)
FEME SR 2B T 0(0.0) 5(100.0) 0(0.0) 0(0.0) 5(100.0)
[ R I T = VA= 7 5(55.6) 4(44.4) 0(0.0) 0(0.0) 9(100.0)
FETHER 2 E LT 4(26.7) 11(73.3) 0(0.0) 0(0.0) 15(100.0)
VI E R AT 3(75.0) 1(25.0) 0(0.0) 0(0.0) 4(100.0)
TRAEGIREER S b 1D 1(100.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
kAR VB REER 2 AR R DT 0(0.0) 0(0.0) 1(100.0) 0(0.0) 1(100.0)
B i BR AR VIR T ER 2 - DE 0(0.0) 8(100.0) 0(0.0) 0(0.0) 8(100.0)
B AG EUARI R A EHDE 1(50.0) 1(50.0) 0(0.0) 0(0.0) 2(100.0)
B AG EURTIEE A E AR R DT 6(46.2) 7(53.8) 0(0.0) 0(0.0) 13(100.0)
B R RN A DT 1(11.1) 8(88.9) 0(0.0) 0(0.0) 9(100.0)
B E SRR N AE TR EDT 2(11.1) 15(83.3) 1(5.6) 0(0.0) 18(100.0)
NHE AR ER S N S AR R RE T 2(22.2) 7(77.8) 0(0.0) 0(0.0) 9(100.0)
NI A T e R T 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
BB E L AT 2(25.0) 6(75.0) 0(0.0) 0(0.0) 8(100.0)
VIR BRI YR A E DT 1(25.0) 3(75.0) 0(0.0) 0(0.0) 4(100.0)
VIR 2D 1(50.0) 1(50.0) 0(0.0) 0(0.0) 2(100.0)
et erEL Bt & TIEER S RE T 1(33.3) 2(66.7) 0(0.0) 0(0.0) 3(100.0)
DIRER 2 RE LB 2(18.2) 7(63.6) 2(18.2) 0(0.0) 11(100.0)
MRS AT DT 1(25.0) 3(75.0) 0(0.0) 0(0.0) 4(100.0)
&M 62(28.8) 147(68.4) 6(2.8) 0(0.0) 215(100.0)
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B ERTIE e DT 6(37.5) 10(62.5) 0(0.0) 0(0.0) 16(100.0)
R 2T oE Pl 0(0.0) 6(100.0) 0(0.0) 0(0.0) 6(100.0)
BN R A E DT 2(28.6) 5(71.4) 0(0.0) 0(0.0) 7(100.0)
EEhEEE 2 AR 4(57.1) 3(42.9) 0(0.0) 0(0.0) 7(100.0)
TFEEEE ZE DT 2(50.0) 2(50.0) 0(0.0) 0(0.0) 4(100.0)
IR AR B2 2 DT 1(50.0) 1(50.0) 0(0.0) 0(0.0) 2(100.0)
LIt A 22 A AR SR DT 5(62.5) 3(37.5) 0(0.0) 0(0.0) 8(100.0)
SEES ZE BT 3(37.5) 5(62.5) 0(0.0) 0(0.0) 8(100.0)
BEES 2 IH TR T 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
GEEL 2 R PREEELEE - TT 1(14.3) 6(85.7) 0(0.0) 0(0.0) 7(100.0)
RIREEY ¢ P T 4(28.6) 10(71.4) 0(0.0) 0(0.0) 14(100.0)
FEME SR 2B DT 1(20.0) 4(80.0) 0(0.0) 0(0.0) 5(100.0)
[ R I T = VA= 7 5(55.6) 4(44.4) 0(0.0) 0(0.0) 9(100.0)
FETHER 2 hE LT 4(26.7) 11(73.3) 0(0.0) 0(0.0) 15(100.0)
VI E R AT 3(75.0) 1(25.0) 0(0.0) 0(0.0) 4(100.0)
TRAE AR SR 2B DT 1(100.0) 0(0.0) 0(0.0) 0(0.0) 1(100.0)
kAR VB REER 2 AR R DT 0(0.0) 1(100.0) 0(0.0) 0(0.0) 1(100.0)
B i BR AR VIR T ER 2 - DE 1(12.5) 6(75.0) 1(12.5) 0(0.0) 8(100.0)
B AG EUARI R A EHDE 0(0.0) 2(100.0) 0(0.0) 0(0.0) 2(100.0)
B G EURTIEE A E AR R DT 7(53.8) 6(46.2) 0(0.0) 0(0.0) 13(100.0)
B R RN A DT 2(22.2) 7(77.8) 0(0.0) 0(0.0) 9(100.0)
B E SRR N AE TR EDT 3(16.7) 15(83.3) 0(0.0) 0(0.0) 18(100.0)
NHE AR ER S N S AR R RE T 1(11.2) 6(66.7) 2(22.2) 0(0.0) 9(100.0)
N A T e R T 0(0.0) 5(100.0) 0(0.0) 0(0.0) 5(100.0)
BB E LB AT 3(37.5) 5(62.5) 0(0.0) 0(0.0) 8(100.0)
VIR RN AR YR A E DT 2(50.0) 2(50.0) 0(0.0) 0(0.0) 4(100.0)
VIR 2D 1(50.0) 1(50.0) 0(0.0) 0(0.0) 2(100.0)
Bt erEL Bt & TIEER S RE T 1(33.3) 2(66.7) 0(0.0) 0(0.0) 3(100.0)
DIRER 2 RE LB 0(0.0) 8(72.7) 3(27.3) 0(0.0) 11(100.0)
MRS AT DT 1(25.0) 3(75.0) 0(0.0) 0(0.0) 4(100.0)
&M 65(30.2) 144(67.0) 6(2.8) 0(0.0) 215(100.0)
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(LD N(%) N(%) N(%) EBIN(%) N(%) N(%)

S JE iAo BT 10(66.7) 5(33.3) 0(0.0) 0(0.0) 0(0.0) 15(100.0)
B R eSS S AT e L BE 0(0.0) 3(100.0) 0(0.0) 0(0.0) 0(0.0) 3(100.0)
TFERE A BT 2(66.7) 1(33.3) 0(0.0) 0(0.0) 0(0.0) 3(100.0)
HEE 2 B 2(40.0) 3(60.0) 0(0.0) 0(0.0) 0(0.0) 5(100.0)
KRG ZC AT 15T 2(50.0) 1(25.0) 0(0.0) 0(0.0) 1(25.0) 4(100.0)
HEFRE 2 BT 3(30.0) 7(70.0) 0(0.0) 0(0.0) 0(0.0) 10(100.0)
&G ER A VIR TS 21 B 1(50.0) 1(50.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
A IR B 2 S T 1(50.0) 1(50.0) 0(0.0) 0(0.0) 0(0.0) 2(100.0)
B E (L A DT 0(0.0) 3(75.0) 0(0.0) 0(0.0) 1(25.0) 4(100.0)
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B FEF MR N F = s FEFERWE #En
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B ST i BT 7(46.7) 8(53.3) 0(0.0) 0(0.0) 15(100.0)
B PR R RS DR 0(0.0) 3(100.0) 0(0.0) 0(0.0) 3(100.0)
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S SR NE A (LA AT 0(0.0) 3(75.0) 1(25.0) 0(0.0) 4(100.0)
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B FEERE =Y R FEERWE &0
(13 N(%) N(%) N(%) N(%) N(%)
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N B S IR S M T 2 A BT 0(0.0) 2(100.0) 0(0.0) 0(0.0) 2(100.0)
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1. FEREEAERSEIR ?
K Haorkh ARWEDEE | BEESE

TAEF (EHEEEAN) 30 63.8 63.8 63.8
FHEz 2 43 43 68.1
MRt (EER R ) 4 8.5 8.5 76.6

B BEHEER 7 14.9 14.9 91.5
R 3 6.4 6.4 97.9
BRF AT R AL A 1 2.1 2.1 100.0
Hast 47 100.0 100.0

2. A HEFEBGRINE - REEZ ARG - HFE— 07 TIE?

T Btk ARWEDLE | BEESE

KLEAAN 16 34.0 34.0 34.0
& 1~-3 & 3 A 12 25.5 25.5 59.6

A 436 AN 2 4.3 4.3 63.8
k& 17 36.2 36.2 100.0
Hs 47 100.0 100.0

3. BEMEHY TAEZ ?

K Horth ARWEDLE | BEESTG

E 27 57.4 57.4 57.4

o B 3 6.4 6.4 63.8
BEE 17 36.2 36.2 100.0
deat 47 100.0 100.0
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4. SERTERBAIREIEE R 7
RE Horkh ARHVEDEL | BEESLE

AL 7 14.9 14.9 14.9
BURFERFT 7 14.9 14.9 29.8
B 5 10.6 10.6 40.4

AR IFEFIEER - Begs) 10 213 21.3 61.7
TR 1 2.1 2.1 63.8
P& 17 36.2 36.2 100.0
Hat 47 100.0 100.0

5. BB RTFEIEH TIFRIARZ D 2 (G

KE Btk AREVESEE | BEEStE

3EITLAT 4 8.5 8.5 8.5
YIHEESETT 24 51.1 51.1 59.6

AR #I5EE 10 85T 2 4.3 4.3 63.8
P& 17 36.2 36.2 100.0
HaEt 47 100.0 100.0

TCHAMESE T TR R B —iH? (BEE)
K Horkh ARHWVEDEL | BEESLE

FHEE ~ £ty ~ AR ~ A 1 2.1 2.1 2.1
RIRETR ~ B 2 4.3 4.3 6.4
BRI 7 14.9 14.9 21.3
R B 1 2.1 2.1 23.4

o TTHH L BN 1 2.1 2.1 25.5
BURF AL 2 4.3 4.3 29.8
BB BLISR 4 8.5 8.5 38.3
{18 A\ Bt E R s 12 25.5 25.5 63.8
P& 17 36.2 36.2 100.0
Hast 47 100.0 100.0
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7.1 EE AR AR TR Ry fa] 2
e Haorth ARHVEDEE | BEEDLE
Bl 28 59.6 59.6 59.6
. EApd) 2 43 43 63.8
HRE 17 36.2 36.2 100.0
Hgat 47 100.0 100.0
7.2 EEEEN - SFHEFTERTE ?
e Haorkh ARHVEDEE | BEEDLE
Hritm 2 4.3 4.3 43
EAlw A 1 2.1 2.1 6.4
EEGUN A 1 2.1 2.1 8.5
=0 4 8.5 8.5 17.0
T 15 319 319 48.9
AR
R 4 8.5 8.5 57.4
ELH 1 2.1 2.1 59.6
BKE 2 43 43 63.8
HRE 17 36.2 36.2 100.0
Hgat 47 100.0 100.0

7.3 BEFEEES)

-

AR HELE 5 S [tk - B FATBRET 2

KE Btk ARAESEE | BEESEE
JEHEEE 1 2.1 2.1 2.1
bl 1 2.1 2.1 43
B BE 28 59.6 59.6 63.8
HWE 17 36.2 36.2 100.0
HaEt 47 100.0 100.0
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RE "otk BRESTEE | BEEESE
B 10 21.3 21.3 21.3
AT 20 42.6 42,6 63.8
B
B 17 36.2 36.2 100.0
4T 47 100.0 100.0

9. S H AIRT B VS SERE IS LA E R EORAY TR E Ry {2

RE Bk ARESEE | BEESLE
FEEFFE 3 6.4 6.4 6.4
Fré 20 426 42.6 48.9
A 5 10.6 10.6 59.6
B

A E 2 43 43 63.8
B 17 36.2 36.2 100.0
4T 47 100.0 100.0

10. &3 H AT AR SR E Ryl 2

RE Btk | BREVESL | BB
FEHE R 5 10.6 10.6 10.6
Vp=N 22 46.8 46.8 57.4
R RRE 3 6.4 6.4 63.8
BEE 17 36.2 36.2 100.0
4ast 47 100.0 100.0
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1 $HEEEREE R () REHHYECEERIZSR - ARIREAE TR ?
KE Horth ARHVEDEE | BEESLE
IR HEY 3 6.4 6.4 6.4
HEB 25 53.2 53.2 59.6
AR RAEEY 2 4.3 43 63.8
BkE 17 36.2 36.2 100.0
st 47 100.0 100.0

2. MR IR TIF ARl
2.1 HIEMIFERL

SR Ry KAV EL B Fofe] 2

KE Ttk ARWTESEE | BEEEST
PN 8 17.0 17.0 17.0
HERE 22 46.8 46.8 63.8
B
BEE 17 36.2 36.2 100.0
BT 47 100.0 100.0
2.2 [EIE2 K2Rl AR
x Hortk B ESEE | BEE2EE
R 17 36.2 36.2 36.2
HEPE 13 27.7 277 63.8
B
BEE 17 36.2 36.2 100.0
4T 47 100.0 100.0
2.3 SR ERIEEEE)
x Hortk B ESEE | BEE2EE
R 22 46.8 46.8 46.8
HEPE 8 17.0 17.0 63.8
B
BEE 17 36.2 36.2 100.0
4 47 100.0 100.0
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24 FEFEH
¥ Hortk BHRWTESEE | BEEESTTE
R 20 42.6 42.6 42.6
HEPE 10 21.3 21.3 63.8
B
BEE 17 36.2 36.2 100.0
4T 47 100.0 100.0
2.5 HEEH)
RE "ok ARESEE | BEESEE
R 22 46.8 46.8 46.8
HEPE 8 17.0 17.0 63.8
AR
5223 17 36.2 36.2 100.0
EE 47 100.0 100.0
26 sHEEH
KE Ttk ARWTESEE | BEEEST
PN 29 61.7 61.7 61.7
HERE 1 2.1 2.1 63.8
B
BEE 17 36.2 36.2 100.0
BT 47 100.0 100.0
2.7 SHIFIETREE)
TE Ttk ARWTESEE | BEEEST
i 29 61.7 61.7 61.7
HERE 1 2.1 2.1 63.8
PR
BEE 17 36.2 36.2 100.0
45 47 100.0 100.0

50




8 T LFS - IsE

¥ Hortk BHRWTESEE | BEEESTTE
R 28 59.6 59.6 59.6
HEPE 2 4.3 43 63.8
B
BEE 17 36.2 36.2 100.0
4T 47 100.0 100.0
2.9 WFEEE R
RE "ok ARESEE | BEESEE
R 27 574 57.4 574
HEPE 3 6.4 6.4 63.8
AR
5223 17 36.2 36.2 100.0
qast 47 100.0 100.0
2.10 HAg%k
KE Ttk ARWTESEE | BEEEST
PN 29 61.7 61.7 61.7
HERE 1 2.1 2.1 63.8
B
BEE 17 36.2 36.2 100.0
BT 47 100.0 100.0
3. I S B B I S ek R B sk SE A S B B 2
3.1 RERFZEREE -5 (UCAN)
KE Ttk ARWTESEE | BEEES
B K 47 100.0 100.0 100.0
3.2 WRERSE ~ MLERSE
¥ Hortk BHRWTESEE | BEEESTTE
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¥ Hortk BHRWTESEE | BEEESTTE
R 28 59.6 59.6 59.6
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45 47 100.0 100.0
34 EFREE - 2355
¥ Hortk BHRWTESEE | BEEESTTE
R 29 61.7 61.7 61.7
B EEE 18 38.3 38.3 100.0
45 47 100.0 100.0
35 EEAERHE
¥ Hortk BHRWTESEE | BEEESTTE
B kiEE 47 100.0 100.0 100.0
3.6 MEMHEEAHE T
RE Hortk BHRWTESEE | BEEESTT
R 45 95.7 95.7 95.7
B EEE 2 43 43 100.0
45 47 100.0 100.0
3.7 EHATAERRE
¥ Hortk BHRWTESEE | BEEESTTE
R 45 95.7 95.7 95.7
B EEE 2 43 43 100.0
45 47 100.0 100.0
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¥ Hortk BHRWTESEE | BEEESTTE
R 32 68.1 68.1 68.1
B EEE 15 31.9 31.9 100.0
45 47 100.0 100.0
3.9 AN EE
¥ Hortk BHRWTESEE | BEEESTTE
R 35 745 745 745
B EEE 12 25.5 25.5 100.0
45 47 100.0 100.0
3.10 HAf
¥ Hortk BHRWTESEE | BEEESTTE
R 42 89.4 89.4 89.4
B EEE 5 10.6 10.6 100.0
45 47 100.0 100.0
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TE Hortk ARESEE | BEESEE
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¥ Hortk BRWESE | BEESTE
JEE W 10 21.3 21.3 21.3
TR 33 70.2 70.2 91.5
B
i 4 8.5 8.5 100.0
4T 47 100.0 100.0
3. % (Fr) LFTEZEh&EZHE
RE Bk ARESEE | BEESLE
JEE R 7 14.9 14.9 14.9
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AR
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1. ERREHYRLSEIRM 2
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eSSy

KE Horth ARHEDEL | BEESE

TAEF (EHEEEAN) 12 24.5 24.5 24.5
FHez 23 46.9 46.9 714
MRt (EER R ) 1 2.0 2.0 73.5

B BEHEER 7 14.3 14.3 87.8
R 5 10.2 10.2 98.0
BRF AT R AL A 1 2.0 2.0 100.0
Hast 49 100.0 100.0

2. A HEFEBGRINE - REEZ ARG - HFE— 07 TIE?
K Btk ARESEE | BEEStE

KLEAAN 2 4.1 4.1 4.1
& 1~-3 & 3 A 3 6.1 6.1 10.2
&13~6 [HH M 3 6.1 6.1 16.3

A8 EFE-LEA 1 2.0 2.0 18.4
HEACAERLE 3 6.1 6.1 24.5
k& 37 75.5 75.5 100.0
Gt 49 100.0 100.0
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3. FBHETINIIEZ?

RE Hortk BRVESEE | BEFEESE
2% 11 22.4 22.4 22.4
i34 1 2.0 2.0 24.5
B
B 37 75.5 75.5 100.0
4T 49 100.0 100.0

4. PP AR ?

¥ Hortk BRWTESE | BREESIE
MAZE 5 10.2 10.2 10.2
BUFERRT 3 6.1 6.1 16.3
B 1 2.0 2.0 18.4
AR

IEEFIEME (AT - EEeT5) 3 6.1 6.1 24.5
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45 49 100.0 100.0
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6. W HAIEERITTIRE B I — 37 (B 25)

e Btk | ARWIESE | BEESEE
BLEE 1 2.0 2.0 2.0
FHEE ~ Fily ~ TR ~ B2 1 2.0 2.0 4.1
B RS 2 4.1 4.1 8.2
R B 2 4.1 4.1 12.2
AR BUFAHEGE 1 2.0 2.0 14.3
FoE Bl 1 2.0 2.0 16.3
{18 A St E R s 4 8.2 8.2 245
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HRE 37 75.5 75.5 100.0
Hgat 49 100.0 100.0
7.2 BEEEAN - SFHEPTERTE ?
K Horth ARHVEDEE | BEESE
&t 3 6.1 6.1 6.1
BRI 1 2.0 2.0 8.2
=LA 1 2.0 2.0 10.2
BT 1 2.0 2.0 12.2
A% GEl 1 2.0 2.0 14.3
T 4 8.2 8.2 22.4
BkE 1 2.0 2.0 24.5
HRE 37 75.5 75.5 100.0
HaEt 49 100.0 100.0
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7.3 BEFEEYL

AR L 5 S Ik - B4 AR 2

¥ Hortk BRESEE | EFEESL
JEIEE 1 2.0 2.0 2.0
B 11 22.4 22.4 24.5
B
HRE 37 75.5 75.5 100.0
45 49 100.0 100.0
8. MHRIMNIMEANSE @ BAFEEFHEENIR?
RE "ok BRTESEE | BEESEE
B 3 6.1 6.1 6.1
A 9 18.4 18.4 24.5
AR
P& 37 75.5 75.5 100.0
qast 49 100.0 100.0

9. HAIATEFHVESEEE

BT fERT KAV TR Ry fe] 2

RE Hortk ARHESEE | BEESE
FERE 2 4.1 4.1 4.1
e 4 8.2 8.2 12.2
feff A 5 10.2 10.2 22.4
B
FEEAFE 1 2.0 2.0 24.5
BKE 37 755 755 100.0
4 49 100.0 100.0
10. 3 H A LIRS = R ] 2
RE Horth BROESLE | BEESE
JEE R 1 2.0 2.0 2.0
TR 9 18.4 18.4 20.4
A NRE 2 4.1 4.1 245
PR 37 75.5 75.5 100.0
#ast 49 100.0 100.0

59




(=& BRG]

L $tBIEEREE R (AT RERVESEREISR - AR IRAE T0E 2

e Horth ARWEDEL | BEESEE
IFHEAED 2 4.1 4.1 4.1
HEB 7 14.3 14.3 18.4
AR AR 3 6.1 6.1 24.5
s 37 75.5 75.5 100.0
Gt 49 100.0 100.0

2. MR IR TIF ARl

2.1 HIEMIFERL

SRR Ry KB B Sy el 2

REY Hortk ARESEE | BEESTTE
Ak 4 8.2 8.2 8.2
HELE 8 16.3 16.3 24.5
B
BEE 37 75.5 75.5 100.0
4T 49 100.0 100.0
2.2 [EIE2 K2Rl AR
RE Hortk BRSESEE | EFEESE
ARk 8 16.3 16.3 16.3
BEFE 4 8.2 8.2 24.5
B
B 37 75.5 75.5 100.0
4t 49 100.0 100.0
2.3 SR ERIEEEE)
RE Hortk BRSESEE | EFEESE
ARk 9 18.4 18.4 18.4
BEFE 3 6.1 6.1 24.5
B
B 37 75.5 75.5 100.0
4T 49 100.0 100.0
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24 EREHE

RE Hortk BRVESEE | BEFEESE
AR 11 22.4 22.4 22.4
BEFE 1 2.0 2.0 24.5
B
B 37 75.5 75.5 100.0
4T 49 100.0 100.0
2.5 HEEH)
RE Bk ARESEE | BEESEE
ARk 9 18.4 18.4 18.4
BELE 3 6.1 6.1 245
AR
P& 37 75.5 75.5 100.0
qast 49 100.0 100.0
26 EEEEY
REY Hortk BRHESEE | BFEESEE
R 12 24.5 24.5 245
AR OBEE 37 75.5 75.5 100.0
qast 49 100.0 100.0
2.7 SRR EE)
RE Bk ARESEE | BEESEE
ARk 12 24.5 24.5 24.5
B OBEE 37 75.5 75.5 100.0
4t 49 100.0 100.0
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8 T - fRisEEs
RE Hortk BRWESE | BEESTTE
AR 10 20.4 20.4 20.4
BEFE 2 41 41 24.5
B
B 37 75.5 75.5 100.0
4T 49 100.0 100.0
2.9 WFEEE R
RE Bk ARESEE | BEESEE
ARk 9 18.4 18.4 18.4
BELE 3 6.1 6.1 245
AR
P& 37 75.5 75.5 100.0
qast 49 100.0 100.0
2.10 HAg%k
REY Hortk ARESEE | BEESTE
R 10 20.4 20.4 20.4
HERE 2 4.1 41 24.5
B
BEE 37 75.5 75.5 100.0
4T 49 100.0 100.0
3. R S BLE R R L Ik S B s R B E B 2
3.1 RERPrZEREE -5 (UCAN)
RE Hortk BRWESE | BEESTTE
AR 47 95.9 95.9 95.9
B HEE 2 41 41 100.0
4T 49 100.0 100.0
3.2 WRERSE ~ MRS
RE Hortk BRWESE | BEESTTE
B R 49 100.0 100.0 100.0
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3.3 MESR e (nl) fom )

K& Hortk BRWESE | BEESTTE
AR 30 61.2 61.2 61.2
B EEE 19 38.8 38.8 100.0
4T 49 100.0 100.0
34 EREH -~ 2355
K& Hortk BRWESE | BEESTTE
AR 45 91.8 91.8 91.8
B HEE 4 8.2 8.2 100.0
4T 49 100.0 100.0
35 IERAERIAE
RE Hortk ARESEE | BEESTE
B KB 49 100.0 100.0 100.0
3.6 METHEESHET
RE Hortk ARESEE | BEESTE
R 47 95.9 95.9 95.9
B EEE 2 41 41 100.0
gt 49 100.0 100.0
3.7 EHATERE
RE Hortk ARESEE | BEESTTE
R 46 93.9 93.9 93.9
B EEE 3 6.1 6.1 100.0
gt 49 100.0 100.0
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3.8 WA L:E

RE Hortk BRVESEE | BEFEESE
AR 24 49.0 49.0 49.0
B EEE 25 51.0 51.0 100.0
4T 49 100.0 100.0
3.9 AN EE
RE Hortk BRESEE | EFEESE
AR 42 85.7 85.7 85.7
B HEE 7 14.3 14.3 100.0
4T 49 100.0 100.0
3.10 HAf
RE Hortk BRSESEE | EFEESE
AR 35 71.4 71.4 71.4
B HEE 14 28.6 28.6 100.0
4T 49 100.0 100.0
s — y 3 =
[FE=%47 HERBERHE]
1. BRI R
RE Horkk BRWESE | BEESLE
JEE W 7 14.3 14.3 14.3
TR 36 73.5 73.5 87.8
B
i 6 12.2 12.2 100.0
4t 49 100.0 100.0
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2. % (fr) BB EEESRIE

# Horth ARWEDLL | BEESET
IFEWE 9 18.4 18.4 18.4
R 35 71.4 714 89.8
R 5 10.2 10.2 100.0
Hgat 49 100.0 100.0
3. % (Fr) bR ENEZHE
S Btk ARESEE | BREESEE
IEE R 9 18.4 18.4 18.4
TR 33 67.3 67.3 85.7
B FWE 6 12.2 12.2 98.0
IFEAmE 1 2.0 2.0 100.0
HEE 49 100.0 100.0
4. % (F) EFTBRZHEEER
e Horth ARWEDLL | BEESEE
IFHEWE 4 8.2 8.2 8.2
R 29 59.2 59.2 67.3
B NRE 14 28.6 28.6 95.9
IFEAwE 2 4.1 4.1 100.0
st 49 100.0 100.0
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I% o&}—i % E ..»t..‘,

‘3”],IFF3 X 131
’ﬁ e E 13
& AR 0%

FEAEHRALE 1 TF ol

Yl A Daly NI "/,
[ FEBF]
1. SFEEEHYEZEAR 2
¥ Hortk BRNESEE | BEESME
B TEP(EBEEAN) 3 100.0 100.0 100.0
2. SEMEFESORMME » RETEL ABER]  HREBISE—1n TAE ?
RE H57EE ARESEE | BEESIE
N1EAN 1 33.3 33.3 33.3
£ 1~3 AN 1 33.3 33.3 66.7
AR
BEFEAFERIME 1 33.3 33.3 100.0
4=t 3 100.0 100.0
3. BT TAER?
RE Ttk ARWTESEE | BEEEST
B = 3 100.0 100.0 100.0
4, FRTRRIEETEE ?
RE Hortk ARESEE | BEESLE
NN S 1 33.3 33.3 33.3
=0 1 33.3 33.3 66.7
PR
IEEFIEE(EEN - BEeTE) 1 33.3 33.3 100.0
45 3 100.0 100.0

67




5. MM EHATEIEH TEEIA B0 2 (B1)
RE Hortk BRWESEE | BREESTE
“I3EES5ETT 2 66.7 66.7 66.7
R 45 EE 10 BT 1 33.3 33.3 100.0
45 3 100.0 100.0
6. H Rt SEAI TR R E BN (BEiE)
REY Hortk BRWESEE | BREESIE
AR AEAREREE 3 100.0 100.0 100.0
7.1 FERIRAE TAE AT Y Byfal 2
RE "ok ARESEE | BEESEE
B B 100.0 100.0 100.0
7.2 BEEEN > SEHTERTZ ?
REY Bk BRESEE | BEEESE
=uli] 33.3 33.3 33.3
=ic0) 33.3 33.3 66.7
AR
= ETH 33.3 33.3 100.0
qast 100.0 100.0
7.3 BEEESN o SREBIR KIS 0 B H AR ?
RE Ttk ARWTESEE | BEEES
B BEE 100.0 100.0 100.0
8. MHRINIMENES » EOEEAEMHEENIZE?
RE Hortk BHRWTESEE | BEEESTTE
B EBE 100.0 100.0 100.0
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9. H AIRT E RV SERE B LA E R BRI TR E Ry {2

KE Btk | AREVESLE | BEESTE

FEFE 1 33.3 33.3 33.3
BYR A 2 66.7 66.7 100.0
4T 3 100.0 100.0

10. &%) H A TR SRR E Ry fl 2

KE =R ARWTESEE | BEEEST
B W 3 100.0 100.0 100.0

(58 BIEHE]
L SRR (FT) SRELOSERRISE - ARHE LR ?

RE Hott | AREVESEE | BEEESTE

FEEFEY 2 66.7 66.7 66.7
B HEB 1 33.3 33.3 100.0
4T 3 100.0 100.0

2. BMEEREERENIRE TIFARTER L R KETE B Ryl ?
2.1 HIEHIERERL

TE Hott | BREVESEE | BRSO

BR EEE 3 100.0 100.0 100.0

2.2 [A5L R 2R AR

KE Btk | ARETESLE | BEESE

B EEE 3 100.0 100.0 100.0
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2.3 IR EB/IEELE

TE Hott | BREVESLE | BRSO

R 2 66.7 66.7 66.7
B EEE 1 33.3 33.3 100.0
45 3 100.0 100.0

TE Hott | BREVESEE | BEEE I

B kEE 3 100.0 100.0 100.0

KE Btk | ARETESLE | BEESE

B R 3 100.0 100.0 100.0

T Hott | AREVESEE | BRSO

B ARKEE 3 100.0 100.0 100.0

K Hott | AREVESEE | BRSO

B ARKEE 3 100.0 100.0 100.0

2.8 LR ~ IeiBEE

TE Hott | BREVESEE | BEEE I

B AkiEE 3 100.0 100.0 100.0
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2.9 e

¥ Hortk B ESEE | BEE2EE
Ak 2 66.7 66.7 66.7
B EEE 1 33.3 33.3 100.0
45 3 100.0 100.0
2.10 HAthg/ %k
¥ Hortk B ESEE | BEE2EE
Ak 2 66.7 66.7 66.7
B SEfE 1 33.3 33.3 100.0
BT 3 100.0 100.0
3. R S BE R R L Ik S B s R E B 2
3.1 RERPrZEREE -5 (UCAN)
RE Hortk B ESEE | BEE2EE
Ak 2 66.7 66.7 66.7
B EEE 1 33.3 33.3 100.0
BT 3 100.0 100.0
3.2 WRERSE ~ MRS
RE Hortk B ESEE | BEH2EE
B AkiEE 3 100.0 100.0 100.0
3.3 BREEZE EsRAE (i) S EE)
RE "ok ARESEE | BEESEE
R 1 33.3 33.3 33.3
B EEE 2 66.7 66.7 100.0
4T 3 100.0 100.0
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Hortk BHRWTESEE | BEEESTTE
R 66.7 66.7 66.7
B EEE 33.3 33.3 100.0
45 100.0 100.0
3.5 FEECA
Hortk BHRWTESEE | BEEESTTE
B kEE 100.0 100.0 100.0
3.6 MEMHEEAHE T
Hortk BHRWTESEE | BEEESTTE
B kiEE 100.0 100.0 100.0
3.7 EHATIEERE
HorEE ARESEE | BEESEE
B R 100.0 100.0 100.0
3.8 KNI :E
Hortk ARWTESEE | BEEEST
Ak 33.3 33.3 33.3
BR EEE 66.7 66.7 100.0
gt 100.0 100.0
3.9 AN EE
Hortk ARWTESEE | BEEES
B K 100.0 100.0 100.0
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3.10 HA

TE Hott | BREVESLE | BRSO

B ki 3 100.0 100.0 100.0

[F=#7 HERBERIEHE]

1. HEERe S HE

RE Bk ARESEE | BEESLE
JEE R 33.3 33.3 33.3
BRSO OWME 66.7 66.7 100.0
4T 100.0 100.0
2. % (F) BB EHFEHE
Bk ARESEE | BEESE
JEE IR 33.3 33.3 33.3
BRSO OWE 66.7 66.7 100.0
4T 100.0 100.0
3. % (Fr) LR ZEh&EZHE
Bk ARESEE | BEESE
JEE IR 33.3 33.3 33.3
BRSO OWE 66.7 66.7 100.0
4t 100.0 100.0
4. % (Fr) LB HEE R
Bk ARESEE | BEESE
JEE IR 33.3 33.3 33.3
TR 33.3 33.3 66.7
AR
AR 33.3 33.3 100.0
qast 100.0 100.0

73




A ERRICEERAERY
B¥is] ERE R

AN

'Gg—g /3 kﬁ:l—fi

g

?ﬁ.lﬂ;,ﬁ( . ?f(?%"& |_105 ;’gﬁﬁ}ig #—fé 1 -&FFB%J
FHAN BLFE T FHELVE
%Wi%f&.é.&

74



¥4 B30 3 0

vk ¥ D11
7 1B
wEéRE D 0K

1. ERREHYRLSEIRM 2

[5—&0 BsEER]

e Horth ARHEDEL | BEESLE
TAEF (EHEEEAN) 10 90.9 90.9 90.9
AR REEEERFRET) 1 9.1 9.1 100.0
Hs 11 100.0 100.0

2. FHTREESRINE - REHCZ AN > EEBE— i TIE?

KE Horkh ARHWEDEL | BEESLE

KLEAAN 2 18.2 18.2 18.2
& 1-3{EAMN 4 36.4 36.4 54.5
€9 3~6 {i&l 3 2 18.2 18.2 72.7

B
HPHEF~1 A 2 18.2 18.2 90.9
P& 1 9.1 9.1 100.0
A 11 100.0 100.0

3. FMHITAEZ ?
K Horth ARWEDLE | BEESTG

E 10 90.9 90.9 90.9

Y BE 1 9.1 9.1 100.0
EH 11 100.0 100.0
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4, FH AR E S ?
K Hortk BRVESEE | EEESE
IEEFIEME (RN - BEeT5) 10 90.9 90.9
B BE 1 9.1 9.1
45 11 100.0 100.0
5. S H AT EeE A TIEEIA BZ /D ? (B%)
RE Hortk BRBVESEE | EEESE
YI3EELSETT 8 72.7 72.7 72.7
45 8E 10 BT 2 18.2 18.2 90.9
B
BEE 1 9.1 9.1 100.0
4T 11 100.0 100.0
& H e ST RS B —E? ()
K [Epaen BRESEE | BEESE
B In{Es 10 90.9 90.9 90.9
B OBEE 1 9.1 9.1 100.0
4EET 11 100.0 100.0
7.1 FBRIEIRAE TAERTHE By fr] 2
RE Bk BRESEE | BEEESE
ik 10 90.9 90.9 90.9
AR EIRE 1 9.1 9.1 100.0
4T 11 100.0 100.0
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7.2 BEFEEN

s M FTAERA T 2

RE Haorth BRHESEE | BEESE

Frdb 1 9.1 9.1 9.1
e 2 18.2 18.2 27.3
LAl 1 9.1 9.1 36.4
=20 1 9.1 9.1 455

AR R 2 18.2 18.2 63.6
B 2 18.2 18.2 81.8
R 1 9.1 9.1 90.9
BmE 1 9.1 9.1 100.0
#ast 1 100.0 100.0

AR L 5 S Ik - B4 HA BRI 2

RE Hortk BRWESEE | BREESTE
P& 10 90.9 90.9 90.9
B ERE 1 9.1 9.1 100.0
4T 11 100.0 100.0
8. MHRINIMENES » EOEEAEFHHEENIZE?
RE Hortk BHRWTESEE | BEEESTT
B 10 90.9 90.9 90.9
B BEE 1 9.1 9.1 100.0
BT 11 100.0 100.0

9. H AIAT E VS SERE B LA E R BRI TR E Ry {2

¥ Hortk BRSESEE | EEESE
FEFE 1 9.1 9.1 9.1
= 9 81.8 81.8 90.9
B
BEE 1 9.1 9.1 100.0
4T 11 100.0 100.0
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10. &3S H AT AR SR s Ryl 2

TE Hott | BREVESLE | BRSO

ip=Y 10 90.9 90.9 90.9
B BEE 1 9.1 9.1 100.0
45 11 100.0 100.0

(58 BIEHE]
L SRR (FT) SRLSERISE - ARFRAE LR ?

RE "otk BRESTEE | EEESE
FEEFEY 5 455 45.5 455
HEE) 5 455 45.5 90.9
B
B 1 9.1 9.1 100.0
4EET 11 100.0 100.0

2. PREEEERENIRETERRER - S8 RE KAV B) R ?
2.1 HIEHEEZ

RE "ok ARESEE | BEESEE
R 3 27.3 27.3 27.3
HEPE 7 63.6 63.6 90.9
AR
5223 1 9.1 9.1 100.0
qast 11 100.0 100.0

2.2 [FIE2 kil AR

RE Ttk ARWTESEE | BEEES
Ak 5 455 455 455
HERE 5 45.5 455 90.9
PR
BEE 1 9.1 9.1 100.0
45 11 100.0 100.0
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2.3 IR EB/IEELE

¥ Hortk BHRWTESEE | BEEESTTE
Ak 8 72.7 72.7 72.7
e 2 18.2 18.2 90.9
B
BEE 1 9.1 9.1 100.0
4T 11 100.0 100.0
24 FEHREH
RE "ok ARESEE | BEESEE
R 5 45.5 455 455
HEPE 5 455 455 90.9
AR
5223 1 9.1 9.1 100.0
qast 11 100.0 100.0
2.5 tLEEH)
KE Ttk ARWTESEE | BEEEST
PN 9 81.8 81.8 81.8
HERE 1 9.1 9.1 90.9
B
BEE 1 9.1 9.1 100.0
BT 11 100.0 100.0
26 GESEY
RE Hortk BHRWTESEE | BEEESTT
R 10 90.9 90.9 90.9
B BEE 1 9.1 9.1 100.0
45 11 100.0 100.0
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2.7 SHAF RS RIS
¥ Hortk BHRWTESEE | BEEESTTE
R 10 90.9 90.9 90.9
B BEE 1 9.1 9.1 100.0
45 11 100.0 100.0
8 T - lRisEEs
¥ Hortk BHRWTESEE | BEEESTTE
R 10 90.9 90.9 90.9
B BEE 1 9.1 9.1 100.0
BT 11 100.0 100.0
2.9 WHITEEEE B
¥ Hortk BHRWTESEE | BEEESTTE
R 10 90.9 90.9 90.9
B BEE 1 9.1 9.1 100.0
45 11 100.0 100.0
2.10 HAthg/ %k
RE Hortk BHRWTESEE | BEEESTT
R 10 90.9 90.9 90.9
B BEE 1 9.1 9.1 100.0
BT 11 100.0 100.0
3. R S BLE R R L Ik R S B s R E B 2
3.1 RERPrZEREE -5 (UCAN)
¥ Hortk BHRWTESEE | BEEESTTE
B AkiEE 11 100.0 100.0 100.0
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3.2 WRERSE ~ LS
¥ Hortk BHRWTESEE | BEEESTTE
R 10 90.9 90.9 90.9
B EEE 1 9.1 9.1 100.0
BT 11 100.0 100.0
3.3 BRI EIRAE CE ) S
¥ Hortk BHRWTESEE | BEEESTTE
B kEE 11 100.0 100.0 100.0
3.4 EREE - 53
RE "ok ARESEE | BEESEE
R 5 45.5 455 455
B EEE 6 54.5 54.5 100.0
4T 11 100.0 100.0
3.5 {FEEAERHT
RE "ok ARESEE | BEESEE
B R 1 100.0 100.0 100.0
3.6 MEMFEES HESY
RE "ok ARESEE | BEESEE
B R 1 100.0 100.0 100.0
3.7 EHATEsRE
KE Ttk ARWTESEE | BEEES
PN 10 90.9 90.9 90.9
BR EEE 1 9.1 9.1 100.0
qast 11 100.0 100.0
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3.8 WA L:E

TE Hott | BREVESLE | BRSO

B ki 1 100.0 100.0 100.0

3.9 B

KE Btk | ARETESLE | BEESE

B R 1 100.0 100.0 100.0

3.10 HAtr

KE Hoott | AREVESEE | BRGSO

Ak 6 54.5 54.5 54.5
BR EEE 5 455 455 100.0
gt 1 100.0 100.0

(=507 WEREENRHE]
N SY

RE Btk | AREVESEE | BRSO

TR 9 81.8 81.8 81.8
B NRE 2 18.2 18.2 100.0
gt 1 100.0 100.0

2. % (Fr) BB EEERIE

KE Hortk ARWESEE | BEESEE
IEEE 2 18.2 18.2 18.2
TR 7 63.6 63.6 81.8
PR
A 2 18.2 18.2 100.0
4T 11 100.0 100.0
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3. & (F) bR ZRTEZTE

RE Btk | BREVESLE | BEEE L

TR 8 72.7 72.7 727
B NRE 3 27.3 27.3 100.0
4T 11 100.0 100.0

RE Btk | BREVELE | BEEE L

TR 7 63.6 63.6 63.6
B NRE 4 36.4 36.4 100.0
4T 11 100.0 100.0
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¥4 B30 3 0

FREE 4K
FREE 4B

EIEE 0K

1. ERREHYRLSEIRM 2

[5—&0 BsEER]

85

REY Hortk BRNESEE | BEESME
TAEH(EREEEA) 3 75.0 75.0 75.0
B HREA(EERRET) 1 25.0 25.0 100.0
45 4 100.0 100.0
2. FMIIBEFESORAE - RETEL AR o KREFE— I TIE?
RE Hortk BRWTESE | BREESIE
NI1EAN 1 25.0 25.0 25.0
“1~-3{EAMN 1 25.0 25.0 50.0
BN BEERICABRRIE 1 25.0 25.0 75.0
B 1 25.0 25.0 100.0
4EEt 4 100.0 100.0
3. A TAEZ ?
RE Ttk ARWTESEE | BEEEST
2h 3 75.0 75.0 75.0
AR OBEE 1 25.0 25.0 100.0
qast 4 100.0 100.0

EATP i B



4. TR 2

RE Horkh ARHVEDEL | BEESLE
B2 2 50.0 50.0 50.0
- IFEFIEME(E R - BEg%) 1 25.0 25.0 75.0
e P& 1 25.0 25.0 100.0
Gzt 4 100.0 100.0

5. SEMEHATPEEH TIERBARZ /L ? (8H)

RE "otk BRESEE | BEEESLE
&3EE L EIT 2 50.0 50.0 50.0
45 &2 10 BT 1 25.0 25.0 75.0
AR
5223 1 25.0 25.0 100.0
qast 4 100.0 100.0

6. HAIMESEAITTIRE R B — 32 (B 25E)

R Bkl FRHESEE | BREESEE
FHE - Fifr ~ T2 - B8 1 25.0 25.0 25.0
B8 BLISR 1 25.0 25.0 50.0
A% (EAR A E RS 1 25.0 25.0 75.0
P& 1 25.0 25.0 100.0
Hast 4 100.0 100.0

7.1 55 MR AR Ryl 2

RE Btk | AREVESEE | BEESE

2 3 75.0 75.0 75.0
AR EIRE 1 25.0 25.0 100.0
4t 4 100.0 100.0
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7.2 BEFEEIN - SEREATERTTE ?

e Haorth ARHVEDEE | BEEDLE
=T 3 75.0 75.0 75.0
A% EHEE 1 25.0 25.0 100.0
HaEt 4 100.0 100.0

7.3 BEFEIN o SHIEEIS K Ik - B0 HAR T ?

e Haorkh ARHVEDEE | BEEDLE
BkE 3 75.0 75.0 75.0
A% EHEE 1 25.0 25.0 100.0
HaEt 4 100.0 100.0
8. MHAINLIENE » BEFEEFERIIR?
e Haorkh ARHVEDEL | BEEDLE
GES 1 25.0 25.0 25.0
FHRE 2 50.0 50.0 75.0
AR
P& 1 25.0 25.0 100.0
Ha 4 100.0 100.0

9. H AIRT B VS SERE TS LA E R EORAYRHTTREE Ry {2

KE Btk ARHVEDEL | BEEStE
IEETE 2 50.0 50.0 50.0
E 1 25.0 25.0 75.0
T BkE 1 25.0 25.0 100.0
st 4 100.0 100.0
10. 3 H A LIRS i = R ] 2
KE [EPa)=v AREDEE | REESTE
R 75.0 75.0 75.0
a8 s 25.0 25.0 100.0
A 100.0 100.0
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1 PSR 2

(=& BRG]

(Air) FRELRVEZERIZSIS - AR TAE 2

R "otk BRESTEE | EEESE
FEEFEY 2 50.0 50.0 50.0
HEE) 1 25.0 25.0 75.0
B
B 1 25.0 25.0 100.0
4EET 4 100.0 100.0

2. MRS IR TP A&

2.1 HIEHIERETZ

 SEER Ry KAV E B Ry (] 2

RE Tk ARESEE | BEESEE
HEPE 3 75.0 75.0 75.0
B BEE 1 25.0 25.0 100.0
4T 4 100.0 100.0
2.2 [EE2 R R AR
RE "ok ARESEE | BEESEE
R 2 50.0 50.0 50.0
HEPE 1 25.0 25.0 75.0
AR
5223 1 25.0 25.0 100.0
qast 4 100.0 100.0
2.3 IRIEE I EIE/EHE)
RE "ok ARESEE | BEESEE
R 3 75.0 75.0 75.0
B BEE 1 25.0 25.0 100.0
4T 4 100.0 100.0
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¥ =R BHRWTESEE | BEEESTTE
Ak 3 75.0 75.0 75.0
B BEE 1 25.0 25.0 100.0
45 4 100.0 100.0
2.5 HLEEH)
¥ =R BHRWTESEE | BEEESTTE
Ak 3 75.0 75.0 75.0
B BEE 1 25.0 25.0 100.0
BT 4 100.0 100.0
26 FHEFH
¥ =R BHRWTESEE | BEEESTTE
Ak 3 75.0 75.0 75.0
B BEE 1 25.0 25.0 100.0
BT 4 100.0 100.0
2.7 %Jﬁxﬁgﬁﬁ/ﬁ/ﬁéb
RE Ttk ARWTESEE | BEEEST
PN 3 75.0 75.0 75.0
AR OBEE 1 25.0 25.0 100.0
qast 4 100.0 100.0
2.8 E LR ~ lREEEH
RE Ttk ARWTESEE | BEEES
i 2 50.0 50.0 50.0
HERE 1 25.0 25.0 75.0
B
BEE 1 25.0 25.0 100.0
45 4 100.0 100.0
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2.9 e

K Horth ARWEDLE | BEESTG
I 2 50.0 50.0 50.0
HE 1 25.0 25.0 75.0
AR
BEE 1 25.0 25.0 100.0
dst 4 100.0 100.0
2.10 HALH K
KE Btk AREDLE | REESTE
AR 3 75.0 75.0 75.0
a8 s 1 25.0 25.0 100.0
dst 4 100.0 100.0

3. I Sl
3.1 KEK

MR L IR S S i s Y E B 2

LSRR EE - 5 (UCAN)
RE "ok ARESEE | BEESEE
B R 4 100.0 100.0 100.0
3.2 Hﬁﬂﬁ/j:m:m E‘jﬂ%%g%’j
TE Ttk ARWTESEE | BEEEST
B ARKEE 4 100.0 100.0 100.0
3.3 BRI CE ) S )
¥ Hortk BHRWTESEE | BEEESTTE
Ak 2 50.0 50.0 50.0
B EEE 2 50.0 50.0 100.0
BT 4 100.0 100.0
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H5rtk BHRWTESEE | BEEESTTE
R 75.0 75.0 75.0
B EEE 25.0 25.0 100.0
45 100.0 100.0
3.5 FEECA
H5rtk BHRWTESEE | BEEESTTE
B kEE 100.0 100.0 100.0
3.6 MEMHEEAHE T
H5rtk BHRWTESEE | BEEESTTE
B kiEE 100.0 100.0 100.0
3.7 EHATIEERE
HorEE ARG | BREESEE
B R 100.0 100.0 100.0
3.8 KNI :E
Horth ARWTESEE | BEEEST
Ak 50.0 50.0 50.0
BR EEE 50.0 50.0 100.0
gt 100.0 100.0
3.9 AN EE
Horth ARWTESEE | BEEES
Ak 75.0 75.0 75.0
BR EEE 25.0 25.0 100.0
gt 100.0 100.0
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3.10 EHfth

TE Hott | BREVESLE | BRSO

B ki 4 100.0 100.0 100.0

[F=#7 HERBERIEHE]

1. HEERe S HE

KE Btk | ARETESLE | BEESE

B W 4 100.0 100.0 100.0

2. % (fr) B EEEERIE

RE Hootk | AREVESTE | BEEESTE

IEEHE 1 25.0 25.0 25.0
BY  OWE 3 75.0 75.0 100.0
gt 4 100.0 100.0

3. & (P bR ZREZ Tk

RE Hootk | AREVESLE | BEEESTE

IEE = 1 25.0 25.0 25.0
BY  OWE 3 75.0 75.0 100.0
gt 4 100.0 100.0

4. Z (Fr) B2 BEER

RE Hootk | AREVESTE | BEEESTE

IEEE 1 25.0 25.0 25.0
BY WE 3 75.0 75.0 100.0
4a 4 100.0 100.0
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